
5.3 INDEPENDENCE AND THE MULITPLICATION RULE STATS THOMPSON 
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P < 0.05 is UNUSUAL EVENT 

 

 

 

 

 

6) 

      0.7 ∙ 0.9 = 0.63 

 

 

 

7) 

                                                                                                             

         1 favorable outcome with 2 possible outcomes 

                       *Exponent is number of times it will occur  (
1

2
)
7

  

        0.00781 times 10,000 

 

 

8) 

 

 

         *Exponent is number of times it will occur   

        0.7110 

 

 

 



P < 0.05 is UNUSUAL EVENT 

9) 

 

     0.01612  *Exponent is number of times it will occur   
        If you have two percentages then multiply the decimals together 

 

10) 

 

          162 

          Romantic is not hopeless  

 at least one is (1-not homeless)     *Exponent is number of times it will occur   

             1 – 0.16 =.84 is not homeless 1-.842=.2944 

 

 

11)  

 

 

           0.9977= 0.9792 

           1- 0.9792 = 0.208 

12)  

 

 

 

       0.990822= 0.98175 

 

       0.990827= 0.93748 

 

       1-0.93748 = 0.6252” 

                 1- 0.990821 = 0.002 



P < 0.05 is UNUSUAL EVENT 

 

           

13)                 97% is 0.97 

 

 

 

           *Exponent is number of times it will occur   

      .972         

 

       .978 

 

     1 - 0.978 

         No, it is not unusual 

                since .2162 is > .05 

 

14) 

 

 

 

      1-0.01=0.99  

      (0.99)5= 0.9510 

 

      1- 0.995 = 0.049 

 
 (d) No will  increases 

 

 



15)     *Exponent is number of times it will occur   

 

 

         0.272 

         .0274 

        0.274 – 0.275 

 

16) 

 

       0.365 

 

       1- 0.365 

 

       1-0.36 = 0.64     0.645 

 

       1- 0.10741 

 

 

 

EXTRA EXAMPLES 

 

 

      (
1

2
)
3

 

 

       0.125 times 10,000 

 



 

 

        (0.05)(0.05) = .0025 

 

         1-0.05 = 0.95 

                   probability that two are not homeless  (0.95)(0.95) = .9025 

  probability that two are homeless  1 – 0.9025 = 0.0975 

 

 

 

 

 

          (0.998)6 = 0.9881 

          1-0.9981 = 0.0119 

 

 

 

 

      (0.98058)8 = 0.85480  

 

      1 – 0.85480 = 0.1452 

 

 

 

 

 

 



 

 

 

 

 

      0.992 = 0.9801 

 

      0.994 = 0.9606 

 

      1 – 0.9606 = 0.0394 

 

 

 

 

 

 

 

     1 – 0.07 

     0.939 

     1 – 0.5204     NO   WILL  INCREASE 

 

 

 

 

 



 

 

      

 

    0.01742     

 

 

 

 

 

      .00613 

 

      1 – ANS 

 

 

 

  

 

Failure 0.026 triple modular redundancy 

(a) Probability is does not fail      = 1 - .0263     = .99995334 

(b)The minimum number of components = 6  *always 6 

 *Use trial and error with the exponents to get 0.99999999 

          0.026 5   then 1 – ANS = .999999988 

                almost; add 1 

  

 

  



 

 

 

 

 

 

 

      (0.83)2= 0.6889        

 

      (0.83)5= 0.3939 

 

 

      1-0.3939=0.6061 

 

    


